In Out A) 2 A) 8 B) 1 B) 0

Washington County Corrections Facility *The Inmates Held In The Washington County Corrections Facility On This 12th Day Of March, 2025*

Inmates by Facility: WCSO: 49 D&E: 1 Other: 0 TOTAL: 50

	Inmates by Facility: WCSO: 49 D&E: 1 Other: 0 10 IAL: 50										
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date				
1	Wright, Dawson R. BPD	Burglary, Terroristic Threats, Strangulation, Attempt of Class 2 Felony, False Imprisonment, Child Abuse, Obstructing Police	09-02-24 2258	WCSO 03-11-25	01-25-99		\$1,000,000.00 10% \$100,000.00				
2	Jensen, Jeremy D. WCSO/ Burt Co Hold	Violation of Protection Order, Disturbing the Peace, Burt Co - Theft- Shoplifting	03-05-25 1337	WCSO	12-19-80		\$50,000.00 10% \$5,000.00 Burt Co- \$25,000.00 10% \$2,500.00				
3	Davis, Larry J. WCSO	3 rd Degree Domestic Assault	03-01-25 0410	WCSO	06-05-94		\$35,000.00 10% \$3,500.00				
4	Chenier, Corey J. WCSO	Warrant- FTA	03-06-25 1451	WCSO	04-20-91		\$25,000.00 10% \$2,500.00				
5	Butler, Summer M. BPD / Douglas Co Hold	Poss. Controlled Substance, Criminal Impersonation, Douglas Co- Poss. Controlled Substance	02-25-25 0948	WCSO	07-15-83		\$15,000.00 10% \$1,500.00 Douglas Co- \$10,000.00 10% \$1,000.00				
6	Urbanek, Keith J. BPD / Iowa Hold	Poss. Controlled Substance, Iowa Warrant -Burglary 3 rd Degree, Theft 4 th Degree	02-25-25 0914	WCSO	01-27-96		\$15,000.00 10% \$1,500.00 Iowa Warrant- \$2,000.00				
7	Frederick, Angela R. WCSO	Warrant- Theft by Unlawful Taking	03-07-25 1604	WCSO	06-18-74		10,000.00 10% \$1,000.00				
8	Ostrand, Zachary M. WCSO/OPD Hold	OPD Warrant- FTA	03-11-25 1852	WCSO	12-15-88		\$5,000.00 10% \$500.00				
9	Svendgard, Cameron C. WCSO	Poss. of Controlled Substance, Probation Violation, Prohibited Acts	03-11-25 1314	WCSO	04-23-99		NO BOND				
10	Collins, William P. WCSO	Warrant- Burglary, 1 st Degree Assault, Theft by Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use of A Deadly Weapon to Commit Felony x2	09-14-23 1723	WCSO	07-25-93		NO BOND				
11	Williams, Kierre L. WCSO	1 st Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	WCSO	08-02-80		NO BOND				
12	Christiansen, Joshua J. WCSO / Sentenced	Probation Violation	02-19-25 1118	WCSO	11-23-76		Release Date 03-13-25 @ 0800				

Signed:	cc: Ca	ptain's Secretary.	, County	Court, and	District (Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
13	Stump, Gabriel C. BPD / Sentenced	DUI 2 nd Refusal of Data Master, Stolen Firearm, Resisting Arrest, Obstruct Police Officer, CCW, Carry Concealed Handgun Consumption of Alcohol	10-24-24 1942	WCSO	12-13-01		Release Date 03-23-25 @ 0800
14	Plugge, Jay M. WCSO / Sentenced	Probation Violation	02-19-25 1022	WCSO	09-10-69		Release Date 04-24-25 @ 0800
15	Castillo-Saavedra, Daniel WCSO / Sentenced	DUI 2 nd	01-29-25 1225	WCSO	10-31-83		Release Date 05-04-25 @ 0800
16	Allen, Andrew J. BPD / Sentenced	Warrant- FTA for Probation Violation	07-11-24 1007	WCSO	05-20-82		Release Date 07-16-25 @ 0800
17	Pirowski, Samuel K. WCSO	Warrant- FTA	02-26-25 0957	WCSO	12-29-81		Release Date 180 Days
18	Noffsinger, Derek L. Burt Co	Burt Co- DUS, Obstruction Police, DUI Aggravated, Theft by Unlawful Taking, Unauthorized Use of Propelled Vehicle	12-29-24 2147	WCSO	12-18-89		\$50,000.00 10% \$5,000.00
19	Overton, Larry J. Burt Co	Burt Co- Poss. of a Deadly Weapon x2, Unlawful Discharge of Firearm, 3 rd Degree Domestic Assault, Criminal Mischief	12-07-24 1920	WCSO	01-12-85		\$35,000.00 10% \$3,500.00
20	Johns, Jonathon R. Dodge Co	Dodge Co- Use of a Weapon To Commit a Felony, Assault, Terroristic Threats, Robbery, Poss. of Financial Transaction Device	02-25-25 1657	WCSO	12-27-97		\$85,000.00 10% \$8,500.00
21	Porter, Angel M. Dodge Co	Dodge Co- 3 rd Degree Assault on Health Care Professional x2	01-07-25 1501	WCSO	05-14-87		\$30,000.00 10% \$3,000.00
22	Solberg, Victoria E. Dodge Co	Dodge Co- Vehicle Theft, Poss. Stolen Property, Resisting Officer	03-08-25 1449	WCSO	03-23-90		\$10,000.00 10% \$1,000.00
23	Stuart, Tammie M. Dodge Co	Dodge Co- Criminal Trespass 1 st Degree, Shoplifting	03-06-25 0834	WCSO	06-04-71		\$9,000.00 10% \$900.00
24	Juan-Osorio, Ursula C. Dodge Co / ICE Hold	Dodge Co- Assault 2 nd Degree / Hate Crime, Use of a Deadly Weapon to Commit a Felony. Hold- Homeland Security	01-12-25 1508	WCSO	11-15-80		\$75,000.00 10% \$7,500.00 Homeland Security- NO BOND

____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed/ Scheduled Court Date	DOB	P O	Bond Amount/ Release Date
25	Martinez-Maldonado, Alondra V. Dodge Co / ICE Hold	Dodge Co Warrant- Attempt of a Class 4 Felony, Hold- Homeland Security	02-15-25 1650	WCSO	12-04-96		\$20,000.00 10% \$2,000.00 Homeland Security- NO BOND
26	Rojas, Vanessa S. Dodge Co / Douglas Co Hold	Dodge Co Warrant- FTA, Douglas Co- FTA x2	03-09-25 1102	WCSO	06-07-80		Dodge Co- \$50.00 Douglas Co- NO BOND \$10,000.00 10% \$1,000.00
27	Herrera, Lukmillia H. Dodge Co	Dodge Co Warrant - Tampering w/ Evidence, Accessory to Class 2 or 2A Felony	11-14-24 2014	WCSO	04-14-66		NO BOND
28	McKay, Latasha D. Dodge Co	Dodge Co- Poss. Controlled Substance	12-22-24 1425	WCSO	03-12-86		NO BOND
29	Hinkel, Riki J. Dodge Co	Dodge Co- Poss. Controlled Substance, Poss. w/ Intent to Deliver x2	01-20-25 1112	WCSO	04-17-90		NO BOND
30	Campbell, Kelly A. Dodge Co	Dodge Co- Probation Violation, Attempt of a Class 2 Felony x2	02-18-25 1443	WCSO	10-15-83		NO BOND
31	Holtz, Brooklyn A. Dodge Co / Sentenced	Dodge Co- DUI	03-08-25 1444	WCSO	03-27-06		Release Date 7 Days
32	Buck, Jenny M. Dodge Co / Sentenced	Dodge Co- Assault on Officer w/ Bodily Fluids x2	02-04-25 1513	WCSO	08-22-80		Release Date 04-04-25 @ 0800
33	Peck, Britni B. Dodge Co / Sentenced	Dodge Co- DUI 4 th	03-02-25 0911	WCSO	06-28-90		Release Date 04-19-25 @ 0800
34	Oswald, Laura R. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention x2	02-21-25 0959	WCSO	05-31-77		Release Date 03-30-25 @ 0800
35	Viesca, Desiree R. Lancaster Co/ Sentenced	Lancaster Co- Leaving the Scene of Injury Accident, DUI	01-28-25 1136	WCSO	03-15-87		Release Date 04-05-25 @ 0800
36	Norton, Sarah B. Lancaster Co / Sentenced	Lancaster Co- Attempted Poss. Controlled Substance, Poss. Controlled Substance	01-07-25 1256	WCSO	12-24-97		Release Date 04-06-25 @ 0800

____cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
37	Rodgers, Mercedez C. Lancaster Co / Sentenced	Lancaster Co- Tamper w/ Physical Evidence	02-04-25	WCSO	08-28-78		Release Date 04-20-25 @ 0800
38	Linkugel, Nicole M. Lancaster Co.	Lancaster Co Warrant- Failure To Appear x3, Loiter and Trespass, Steal Goods Or Money	02-25-25 1132	WCSO	04-23-80		Release Date 04-22-25 @ 0800
39	Oswald, Angela A. Lancaster Co / Sentenced	Lancaster Co- Theft by Deception, Attempted Burglary	09-13-24 1100	WCSO	06-21-79		Release Date 05-16-25 @ 0800
40	Stone, Tory L. Lancaster Co / Sentenced	Lancaster Co- Poss. Controlled Substance, Tampering w/ Evidence, Attempted Theft by Shoplifting	12-31-24 0946	WCSO	10-26-83		Release Date 05-23-25 @ 0800
41	Ironcloud, Amanda R. Lancaster Co / Sentenced	Lancaster Co- Attempted Poss. Controlled Substance, Warrant- Theft by Shoplifting x2, District Court- Poss. Controlled Substance	08-13-24 1000	WCSO	04-19-80		Release Date 06-24-25 @ 0800 Appeal Bond- \$2,000.00 Cash District Court - \$20,000.00 Cash
42	Stoner, Brionna P. Lancaster Co / Sentenced	Lancaster Co- Attempt Poss. Controlled Substance, Domestic Assault 3 rd Degree, Assault 3 rd Degree, Violation of Protection Order	12-03-24 1253	WCSO	02-02-98		Release Date 09-15-25 @ 0800
43	Kinnett, Aubrey A. Lancaster Co / Sentenced	Lancaster Co Warrant- Shoplifting x3, FTA, Theft by Unlawful Taking	11-22-24 1055	WCSO	05-25-86		Release Date 04-02-26 @ 0800
44	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
45	Taylor, Jennifer D. Saunders Co	Saunders Co- 3 rd Degree Domestic Assault	02-25-25 1446	WCSO	03-03-81		\$10,000.00 10% \$1,000.00
46	Locke, Delana R. Saunders Co	Saunders Co -Poss. Controlled Substance	02-28-25 1436	WCSO	07-13-79		NO BOND
47	Turner, Shaniece L. Saunders Co / Sentenced	Saunders Co – Attempt of a Clas 4 Felony	03-07-25 1447	WCSO	12-04-95		Release Date 3-18-25 @ 0800
48	Bogart, Jade J. Saunders Co	Saunders Co- DUI 3 rd	03-07-25 1447	WCSO	12-29-97		Release Date 06-15-25 @ 0800

_cc: Captain's Secretary, County Court, and District Court. Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
49	Kocian, Tyler J. Stanton Co	Stanton Co- Flight to Avoid, Assault on Officer, Willful Reckless Driving, Terroristic Threats, Misc Flight NSP	02-10-25 0605	WCSO	08-29-96		\$100,000.00 10% \$10,000.00
50	Boettcher, David W. WCSO	Warrant- Poss. Deadly Weapon by Prohibited Person, Poss. Controlled Substance, Use of Deadly Weapon to Commit a Felony, 1st Degree Criminal Attempt of Assault, 2nd Degree Criminal Attempt of Assault, Poss. Deadly Weapon, Child Abuse	01-15-25 1228	D&E	01-28-76		NO BOND
51							
52							
53							
54							
55							
56							
57							
58							
59							
60							

Signed:	cc: Ca	ptain's Secretary.	, County	Court, and	District (Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61							
62							
63							
64							
65							
66							
67							
68							
69							
70							
71							
72							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							•

Signed:	cc: Captain's Secretary, County Court, and District Court.

86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							

Signed:	cc: Captain's Secretary, County Court, and District Court.

98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	t.

110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:	cc: Captain's Secretary, County Court, and District Court.

Signed:	cc: Ca	aptain'	s Secretar	y, (Count	v Court	, and	District	Court